0
<D

G

@

&
i

&
ol

METFB-32 &%

i

3

Py
[
=

i
-

W
¢

@

8 & BEVEL — RIASEEEY (T EE )

A

®

-

Rl flllk /i

RAREN i e
gl
EBENET / STHE(CHE

BREPREAL WL
EEER MR

mindman
Hiks
HIgE METFB-32
B EEEE (mm) +0.05
e (mm/rev) 72
AR (mm) 3
72 (mm) 100~2000
ZE I (N.m) 0.2
FERULEE (EEs RLT &
IO AC frlfi e S
SR 200w | 400w | 042
B 1 (mm/s) 2400 720
AF (kg) 5 | 10 35
HUEAH 2
®H  (kg) - -
1., B / SRR 0.5 7 -
*2. FE AR EE LS -
N IEERSERE(2)

EBENITHSE

METFB 32 N — 1000 BW — S42 — CK10 03 N 015

o ® @5 ®© © ©0 ©

@

¢ EEECETE @_ o IEETE

L RN (1) | e R S I
: ( 1+@Fﬂ $42) H
I =
GR HlREE =% 200/400W ) BM 015 | 1-5m
GL ZERIE M 21| 40 . CM20™ | i Ba2) ({#38 CK10)
— e P 03 |3m (i)
@) o= | o | 2] 0w 05 |sm
| 100~2000mm | ~ [4o] soowim | (7) BEAT
. S 1 N NPN I/0 2K
©) EizfuE wm 42| QROE | | | :
B 015 [ 15m (i)
BW I
v — 1. BT R TR RS g, @ 03 |3m
2. 7 5308 RS485 SR Mtk (CK10-C035) Liaherizs @) -
RIS / TR RCERL 7 GTHEACERE

RZ —EB2— N

* & RUT ST - HISSR AR
IR AR 2m -

M mindman

AR

N NPN

P PNP

AK — EB2 — 32

*EOGHE T R

A%


https://www.mindman.com.tw/proimages/pdf/C_RLT.pdf
https://www.mindman.com.tw/proimages/pdf/C_motorSelectTable.pdf
https://www.mindman.com.tw/proimages/pdf/C_CK10_CM20.pdf
https://www.mindman.com.tw/proimages/pdf/C_ElectricActuator_selectorTable.pdf
https://www.mindman.com.tw/proimages/pdf/C_ElectricActuator_Applications.pdf
https://www.mindman.com.tw/proimages/pdf/C_MeasuringTools.pdf
https://www.mindman.com.tw/proimages/pdf/C_TechnicalWordingReference.pdf
https://www.mindman.com.tw/proimages/pdf/C_motorSelectTable.pdf
https://www.mindman.com.tw/webls-zh-tw/category-Electric-Cylinder-Controller.html

METFB-32 #fi & g4 M

BB EENEL — KRS ( M EE) mindman

(AR

o &y | @

U
e (x1) | MRRESIEERE (x1) | BB (<1) | BRER (x2)
* SRR 2m

Ao

SEIEF (x1) | i8R (x2)

L=EX BN @ kg
sk HARE R 172 100 mm FARE & (L) 172 100 mm (FH#8H1 )

o METFB-32N METFB-32G* METFB-32G*
BAg | b
32 2.06 0.36 2.7 0.49

* IR GE EATR R A & -

M mindman



METFB-32 thagwi

i

B EENEL — REEREE) ( M HEIE ) mindman
AFREATT EE IR
g Mx|My|Mz Fy|Fz
- BAZSE 9 (N.m) ZEF AT (N)
fREE 55 22 22 - 500
METFB-32 —
VRREE N 47.5 48 48 2800 3300
I B EREENE AR - Ll K ELE H _EFERHEK 10~20 %
LIRS »
e NEEGEAETEEZ2E AR
MxA + MyA + MZA + FyA + I:zA <1
M, M, M, F, F,
*H AFRERITEE
EENRLEE N A
METFB-32 fiEyEHif METFB-32 [{75if
600 600
500 500 AN
S 400 AN S 400
% 300 \\ % 300 \
I 200 I 200 J
100 100
0 0
0 500 1000 1500 0 500 1000 1500 2000
SEHRFIEIBE L (mm) SEHRFEIBE L (mm)
w
@
- :
L
W
° 9
|
1]

J

i

o CRHEbAH I RAE R LR 0.5~ 1mm FEEIPY - fedriE i H AR -
o CRHERAHZRAE AL 1~1.5mm (A ) FEEINY - FRHMEEIRE -

M mindman



METFEFB-32 5B

mindman

ikl — RARERE) ( FHMEE )

NCWAN- S
BRE
| N AL » B 97
L=323+ {772
167.7 HEEE ) BRITHE 155.3
T
127
8141 AR 45 45 761 HEAHARIR
IR
T
o - Y B
E|
o o, $ S
W E=paey| |
DB‘F}Q 6-M6x1.0x8 % B
F o []
@] [Cb] @
—— ) 8
« 18 |\ 2x2-M6x1.0%6 ¥ ®
" 8
fal f\l
& & &
AA—d
[ce]
99 100 (Z4H) N-M5x0.8x6 % ~
(N/2-1)x100
w
45 45
e}
F :
@ 00 [ 00 o
@ @0 09 o o9 P ©
° % © ) S S @E® 8
&b =
® ©¢© oF
N 6-M6x1.0x10 % N o
) T 1
W—W%M%
=1 | s s [
& b &
AA—d ——
\ S 2
<
99 100 (Z:5) N-M5x0.8x6 %
(N/2-1)x100
B : mm
ng% 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900 | 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
L 423 | 523 | 623 | 723 | 823 | 923 | 1023 | 1123 | 1223 | 1323 | 1423 | 1523 | 1623 | 1723 | 1823 | 1923 | 2023 | 2123 | 2223 | 2323
N 6 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 | 26 | 28 [ 30 | 32 | 34 | 36 | 38 | 40 | 42 | 44
T\ | e
w 60 | 47.6
H 100.8 | 94.8

M mindman




METFEFB-32 5B

AN S
'E'I:IEE.

/8

“ m VT » FESE T

ikl — RARERE) ( FHEE )

L=399+ 1772

mindman

243.7 Y )EE } BT 155.3
157+1 MR 127 761 B hkHEIR
45 45 o
N[
Hm
e 5 D Eon i
‘ ‘ ‘ B] @ >
B e —— |
H e
w 119 |\ 6-M6x1.0x8 ¥
Ll
[ co 1
[©) ©
@ o] O] [© o] [l ©
| = = g [ . 2
- —
- & ¢
%@ o
S 18 2x2-M6x1.0x6 ¥ I
0 w0
©
© afiln
T 5 5
> - -
100 (Z53E) \ N-M5x0.8x6 % 2
(N/2-1)x100
w
45 45
" " ©
N
H [1© © | © ©]] -
® "
LA @ ©0 00 o0 09 | ©
. - j ® e 3 e ) S e olH® 8
e 00 0 © 0@ £ =
57 % ‘ e °¢-o og
o 18|\ 2x2-MBx1.0x6 7 6-MEx1.0<10 % & o
[Te} wn
- 82
8 [ ]
[ + o
2 D -
S o
<
175 100 (%) N-M5x0.8x6 %
(N/2-1)x100
A7 mm
Irhj‘i;;%i 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900 | 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
L 499 | 599 | 699 | 799 | 899 | 999 | 1099 | 1199 | 1299 | 1399 | 1499 | 1599 | 1699 | 1799 | 1899 | 1999 | 2099 | 2199 | 2299 | 2399
N 6 8 0 | 12 | 14 | 16 | 18 | 20 | 22 | 24 | 26 | 28 | 30 | 32 | 34 | 36 | 38 | 40 | 42 | 44
JEE - 5
fo | R | i
w 60 | 47.6
H 40.8 | 42.8

M mindman



METFB-32 %%tk

i

B8 BENEL — RAEERE) (R )

R NI

feradh i LT

R SREE * R (N) 2058

P

mindman

O

72 1 A RE

=ﬂ o o ;@;— -ﬁ o O g
© _ © © _©
OR®) 0 5o 2-02D
E @ @ 2-@ZIxZJ
n m N
ZB i ZE O] B O] ZF
N — N N
ZC ZF ZC
thRESZ KR * UL (GR / GL) 22
F % | 0 O
© _© ©o0 o0 O
7K O 2-07D °
O O 2-9ZIxZJ F 00 o
© ©
| mil ]
zB ® zF
zc N
BT mm
HH ZA ZB ZC ZD ZE ZF ZG ZH Zl zJ ZK HiE(g) | FIAEE
1 2.5 36 476 5.5 6 24 8 28.3 - - - 46 |LB-EB2-32
2 = 60 72 5.5 = 55 8 = 10 5.5 = 82 | MS-EB2-32
3 - 78 90 55 - 55 8 - 10 5.5 125 103 | MS-EB2-32G

M mindman



	1_規格
	2_滑軌&傳感器安裝
	3_性能圖表
	4_外觀尺寸
	5_外觀尺寸
	6_安裝配件

